KTR#E RAFE BHTEE HHE (R EB) 202254

#A HE B BARIDEEE BOE (ST LT284 -2
4|8 108 &% 4R~38% He& 2,487,455 1,631,940|2022. 48 ~2023. 38
=5 2,487,455 1,631,940
48 5|8 |AHVULK AEHRE 2,814 50% 1,407
4R 9B VUL HEHRE 3,060 50% 1,530
48 14|18 |[AVIAR HAERRE 2,686 50% 1,343
4R 2008 |HYUAR HEHRE 2,550 50% 1,275
48 27|18 |AVULK AERRE 2,771 50% 1,386
5 A 2|8 VIR HEHRE 2,839 50% 1,420
5/ A 8|8 |HVULK AERRE 2,000 50% 1,000
5 A 9B VUL HEHRE 3,024 50% 1,512
5 8 14|18 |[AVIAR RERRE 2,637 50% 1,319
5 A 198 [AVUsR HERRE 2,802 50% 1,401
5 A 258 |AVULK RERRE 2,000 50% 1,000
5 A 29|18 |HYUAR HERRE 2,934 50% 1,467
6/ A 2|8 AV RERRE 2,823 50% 1,412
6 A 8B VUL HERRE 2,717 50% 1,359
6/ A 13|18 |[AVUAR RERRE 2,855 50% 1,428
= 19|18 |[AVULR HEHRE 2,000 50% 1,000
= 21|18 | AV REHRE 2,490 50% 1,245
= 24|18 | AVUIK HEMRE 3,125 50% 1,563
= 29|18 AV REHERE 2,718 50% 1,359
7\ A 318 |AVULK HEMRE 2,550 50% 1,275
7|8 718 | AV REHERE 2,704 50% 1,352
7\ A 13|18 |[AVULR HEMRE 2,652 50% 1,326
7|8 2008 |AVULK REMERE 1,000 50% 500




718 21|18 | AV REMEE 2,419 50% 1,210
7|8 27|18 AV HEARE 2,608 50% 1,304
8/ A 718 |AVYR REMEE 2,946 50% 1,473
8|A 718 |AVIK HEHERE 2,000 50% 1,000
8|8 12|8 |[AVIAE REMEE 2,708 50% 1,354
8|A 2008 |AVULK HEHERE 2,885 50% 1,443
8|8 258 |AVUK REMEE 1,000 50% 500
8|A 258 |AVULK HEHERE 2,885 50% 1,443
9|8 48 AV REMEE 2,983 50% 1,492
98 1218 AU HEHERE 2,958 50% 1,479
9/ A 188 (AU HEHRE 2,000 50% 1,000
9/ A 22|8 |AVUIK AERRE 2,000 50% 1,000
9/ A 25|80 |HYUAR HEHRE 2,608 50% 1,304
10/A 118 Aot AERRE 1,000 50% 500
10| B 2|8 VUL HEHRE 2,513 50% 1,257
10| B 8|8 |AVULR HAERRE 2,711 50% 1,356
10| B 158 |[AVUsR HEHRE 2,973 50% 1,487
10/A 21|18 | AV HAERRE 2,608 50% 1,304
10| B 25|83 |HYUAR HERRE 2,737 50% 1,369
10| B 3008 |AVULAR RERRE 2,771 50% 1,386
118 6|8 |AVULR HERRE 2,942 50% 1,471
118 12|8 |[AVIAR RERRE 2,842 50% 1,421
118 188 |[AVULR HERRE 2,000 50% 1,000
118 23|18 |AVULK RERRE 1,000 50% 500
118 25|80 |HYUAR HERRE 2,846 50% 1,423
12|A 118 |[AVIA RERRE 3,180 50% 1,590
12|18 8|8 |AVULR RERARE 2918 50% 1,459
12|A 15|8 | AVIE REHERE 2,921 50% 1,461
12|18 208 AVt HEREE 2,000 50% 1,000
12|A 24|18 AV REHRE 2,771 50% 1,386
12|18 298 AV HEREE 2,000 50% 1,000
118 4|8 |[HVIAR REHRE 2,771 50% 1,386
1A 108 |[AVIUR RERRE 2,755 50% 1,378
118 16|B |[AVIAE REMERE 2,999 50% 1,500




118 21|18 | AV REMEE 2,000 50% 1,000
118 258 |AVULK HEARE 3,141 50% 1,571
118 3118 AV REMEE 2,981 50% 1,491
2|8 5|8 |AVULK HEHERE 2,608 50% 1,304
2|8 108 |AVUAE REMEE 2,737 50% 1,369
2|R 158 |[AVIIR AERRE 2,703 50% 1,352
2|8 21|18 | AV REMEE 2,902 50% 1,451
2|R 26|8 |AVUAR REMEE 2,942 50% 1,471
3|8 2|8 |AVUK REMEE 2,703 50% 1,352
3|8 718 |AVUK HEHERE 2,704 50% 1,352
3R 18 [AVUsr HEHRE 2,967 50% 1,484
3|8 1718 AU AERRE 2,999 50% 1,500
3R 2118 |HVUAR HEHRE 2,862 50% 1,431
3|8 24|18 | AV AERRE 2,576 50% 1,288
3R 29|18 |HYUAR HEHRE 2,810 50% 1,405
186,644 93,336
1208 | 218 |BEmHET—H REFRR 369380  47% 173,609 ﬁggi;ﬁﬁm:mu&m
369,380 173,609
TETRE 3,043,479 1,898,885
5 8 17|8 |Z2—XEFEN.4A1 [LEERERE 306,075 97% 296,893|A4 x 4P 15,0008% (H5—)
8|8 26| |=a—R1EREN42 [LEELIRE 165,000 82% 135,300|A4 X 2P 15,0008 (15—)
118 14|8 |Z2—REFEN43 [GEELERE 323,400 97% 313,698 |A4 x 4P 150008 (H5—)
2|8 13|B | —a—RERENAEKE [LEELERE 663,850/  100% 663,850|A3 X 2P 60,0008} (HS5—)
[RiRE 1,458,325 1,409,741
12|18 268 |[MEREBRIEGH ERBEAE 6,000 100% 6,000|2022. 4~2023. 3A 5>
EFMBAE 6,000 6,000




4R 308 |EHESER4A EHIE 70,000 50% 35,000
5 H 31|18 |EHBHEEHSA EHBME 70,000 50% 35,000
ZTRETIETF T&HEFTHOTCC CI
BEDOHER 6./12F7EFEZE
EFTHOBITEFEFEHT0%
6|8 30 B |EHFEEH6A EHIE 70,000 20,223 |#&5, 12B~21M 108 /A&
33%3R 5, EZEHE D6 22~6
S0EBIETFHEDORELE
T~ SRR OB
BOXMERELEN, 7710~ /11
I R AE 5 Al 0 G)ZEFEﬁ[ifﬁH_FJ-[T—G{ﬁFﬁLx
7|R 3118 | EHMEEHTA EHBIE 70,000|  50% 23,786 3300 kmsn 712~ 31 D20A
B, BEEEYDFFHT50%R
/_n\
8|A 31|A |BEHFFEEHSA EHIE 70,000 50% 35,000
9/RH 308 |EHBEEMIA EHME 70,000 50% 35,000
10/ A 318 |BEHFFEEH10A8 EHIE 70,000 50% 35,000
118 308 |EHBMEEHIA EHME 70,000 50% 35,000
12| B 31|A EHFEERI12A EHIE 70,000 50% 35,000
118 31|18 |EHBHEERA EHE 70,000 50% 35,000
E§$E$$¥§Fﬁ<‘:bfﬂﬁa‘®ﬁ
o _ A 2/ 1~ 4ADARRILEE
2|R 28|8 |BEHFFEEH28 EHME 70,000 25,000 IR 5004445 . HHFFE= 0
2/5~2/28 —33%iR%,
K #EEEEMELTER
3|8 31|18 |EHBEEHIA EHIE 70,000 22,580|3,/1~.30—33%
RZ2HMERE3 3154
840,000 371,589
4R 25|8 |#EHEEIA EKE 2,338 33% 772|2,886 32 $L LN
5|8 25|80 |#EHEFE4A EBE 2,352 33% 776|2,900F 3 #h0Y
6 A 27\8 |#EHEEESA EKE 2,783 33% 918(3,331 A $4LY
78 25|8 |EHEIECH EKE 3,446 33% 1,137(3,994F 3 LN
8|8 25|80 |#EHEFETA EBE 3,449 33% 1,138|3,997A 3 $4LY
9|A 268 |#EHEIESH EKE 3,206 33% 1,058(3,754 3 LY




10| B 25|8 |#EHEEIA EKE 3,472 33% 1,146 4,020 3K LY
118 25|80 |#EHEEE10R EKE 3,458 33% 1,141[4,006 A3 L0
12| B 268 #EWEEI1A EKE 3458 33% 1,141[4,006 A3 L0
1B 25|80 |#EWHEEE12AH EKE 3,445 33% 1,137(3,993M 3 L0
2|R 25|80 |EHEEIA =KE 3,445 33% 1,137(3,993M 3 LY
3|8 25|80 |EHEE2A EBE 3,445 33% 1,137|3,993A X $4L)

EBE 38,297 12,638

&5t 5,386,101 3,698,853

RS 501,147




